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input N

daySeconds<----60"60"24
monthSeconds<----—- daySeconds*30
yvearSeconds<--—-—-- monthSeconds*12

year<-—-N/yearSeconds
N<----N-year*yearSeconds
month<-—N/monthSeconds
N<---—-N-month*monthSeconds
day<-—N/daySeconds

Print year.month.day
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Input n

F1=0
F2=1Ft=3

yes

Print Ft

F1=f2
F2=ft
Ft=f1+f2
N--
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Input A,B

Intnl, n2, counter=0, ans=1

ARA/10

B 8B/10

Ans B A*ans
Counter fcounter+1

Counter<B Print ans
END
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Input num

Pwr €1
Sum €0

Digit €num%10

Num €num/10

Sum €<(digit x pwr) + sum

Pwr €pwr x 2

Num/10 == Print sum




input AB,.C

Delta <--B*B-4*A*C

Yes
Delta<0 Print "No real number"

No

x1 <-- -B +rad(Delta) / 2A
Printx1 , x2
X2 <— -B -rad(Delta) / 2A
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Start )

: Getn ;

1 B2

No / Print ;
> , "Yes" / end

yes

Yes

Print "No”
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3 5
_ x3 x
sm(x)—x—§+§—---

pow <-- X*X

sign <-- 1

t<=—-1

sum<-—-0

exp <-—- X

fact <—- 1

No
Print sum

Yes

sSum <-- sum + exp

!

fact<--fact * (t+1) * (t+2)
t<—-1+2
X <--X"* pow
sign <-- -sign

!

exp <-- sign * x ffact

n- -
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)
i=0

5=

Read n from Input

Pi=3.14
w=(2*Pi)/n
Sum=0
i=0

sum=sum*w

End
sum=sum + sin(i*w)
i=i+1

AR
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Start )
§<—1 Yes l
Y
I<-1 ST I=[+2 —  I<=101
lNo
l'. %’/?, 'v—b- End  _\|
II. ew ‘|| \ /

VY
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V3, 3+V3 /3+/3+\/§ )

counter<----1
S<-—-sqrt(3)

Sum<---0

P

N
/ N
/

\\
\,

% = counter<---counter+l
es -
counter<=100—— > —>  Sum<-—-sum+$§

S<—sqrt($+sqrt(3))
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